- R-HAZEERRERAER (REESTD)

AR MAS/RET(545)
1 FEEREFR 3 Bjl
X 4 4 M 4 M 5 £ b5 X 4 # M 6 £ 4 WM 5 £ # OB %
sy | Y amEn wasan| PEAY EER AmEn wisen| LI SEEY amEn mesa B EEY asan vwen| REL EER asEn v 8 BEHN asEn mwem
#HOH 3 1 3 0 4 0 5 2 1 #w % 3 1 3 0 4 0 5 2l -1 1 -2/ -2
10 ki 0 1 A 0 0 0 0
10 £ 0 2 A 2 0 3 1 -2 0 -3 -
| 20 & 0 0 1 0 1 0 2 1 0 3 A 1 0 1 0 1 0 1 0
3 0 & 0 1 0 0 0 0 1 0 1 4 A 0 0 0 0
g 4 0 R 1 0 0 0 0 5 A 1 1 0 0 1 1 0 0
50 & 1 0 0 0 1 0 0 0 0 6 A 1 0 1 of -1 0 -1 0
60~645% 1 0 0 0 1 0 0 0 0 7 A 0 0 0 0
=) it 0 0 2 0 1 0 2 1 0 8 A 1 0 1 1 - o -1 -
# |es~74% 0 0 2 0 0 0 1 0 0 9 A 1 0 2 0 1 0 2 0
E |758mut 1 0 1 1 0 1 0 H 0 0 0
T~ H 0 11 A 0 0 0 0
"5 & 1 0 1 0 0 1 2 R 0 0 0 0
-| Bt 0 0 0 0 0 0 0 0 0 L+ ¥ 2 1 1 0 3 0 4 1 - 11 -3 -1
M " b/ ) 0 T 3 # 1 0 2 0 1 0 1 1 0 0 1 -1
N 0
MEEEY: 0 4 FHEHS)
ERE 0 X 4 4 M 6 £ 4 M 5 £ # OB %
RFEHE 0 HEE TES amEn wessn| S8 EEK amEn vuesn| HE EEH asEy woess
ERER ABEREIAADHEETHS. B 3 1 3 0 4 0 5 2l - 1 -2 -2
2 BEfEE R it 1 1 0 0 0 0 0 0 1 1 0 0
X 4 S M 4 #M 5 £ b5 A i N E 0 0 0 0 0 0 0 0 0 0 0 0
3 EEM asay wassy| R3] EEY Aoy vussx| R | EEH anEn wassy HEirSE 0 0 0 0
BB 3 1 3 0 4 0 5 2 1 ot | i | tms e 0 0 0 0
0 ~ 2 0 UG 0 0 0 0
2 ~ a4 0 H |zof o0 o o0 o0
4 ~ 6 0 z O fth 1 1 0 1 1 0 0
6 ~ 8 1 0 1 0 0 it 2 0 3 0 3 0 4 1 - o -1 -
8 ~10 1 0 2 0 0 BH|E @ E 3R 2 0 3 1 -2 o -3 -
10~12 1 0 2 1 0 B E 0 0 0 0
12~14 0 | & ULVEE 2 0 3 0 2 0 3 0
14~16 1 1 0 0 1 BB R s 0 0 0 0
16 ~18 0 H|ThENE 0 0 0 0
18~20 1 0 1 0 0 X B 0 0 0 0
20~22 1 0 1 0 0 BE & H B 0 0 0 0
22 ~ 24 1 0 1 1 0 HEAEZ O 1 0 1 0 -1 0 -1 0
B # 1 0 1 0 0 = Hi 0 0 0 0 1 0 1 1 -1 o -1 -
eI ] 2 1 2 0 1 0 2 1 1 TEMER 1 0 1 1 -1 o -1 -1
%ﬁ .-g g 1 0 1 0 0 7] EEE R GEEETE) 0 0 0 0
B’ 2 0 2 1 0 Bl BRIMER 0 0 o0 0
” & 0 0 0 0
F OB1HBICKAHEERRERLIZLDOTH S, 0 0 0 0 0
5 H 0 0 0 0




